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Equation is defined to be a mathematical statement of equaility.

6z+10=-2



SOLUTION [ ROOT OF The EQUATION

e The value of the variable which satisfies an equation is called the

“solution “ of the equation, or the “root “of the equation.



The highest power of variable in a given equation is called degree.
8x +17 (x-3) = 4 (4x-9) +12 Linear equation.
3x2+5x+6=0 Quadratic equation.

3x3 +5x2+6x+1=0 Cubic equation.



SIMPLE EQUATION

Equation of one degree and having one unknown
variable is simple equation.
Simple equation has only one root.

General form

ais coefficient of x,az0

b is constant



How to write Negative of a number on
Calculator

To Write — 5 on Calculator . . . .
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us oF I3l AND ﬂ

(ax2)+(2x5)+(3X6)

4X22X5 3X6




(3x7)+(2x6)-(3Xx8)

3x7p32xe33xs E &




SN The equation -7x + 1= 5 - 3x will be satisfied for x equal to:

a. 2
b. -1
c. 1

d. None of these



FITX®. The root of the equation ¥ +4 _X-5 .. s

4 3
a. 20
b. 10
c. 2

d. None of these



X

P
[sTTX] Pick up the correct value of x for S0

a. x=5

b. x=7

C. x=l1—
3

d. None of these



X+ 24 =4+£

[T AThe solution of the equation y

a. 6
b. 10
c. 16

d. None of these



[eXE 8 is the solution of the equation

a. x+4_'_x-5=11
4 3
b. x+4 x+10
+ =8
2 9
C
x+24=4+£
5 4
d.



m y+lloy+l y+d

The value of y that satisfies the equation 6 9 2 5

a. -1
b. 7
c. 1



[sTX/ The solution of the equation (p+2) (p-3) + (p+3) (p-4) = p(2p-5) is

a. 6
b. 7
c. 5

d. None of these



12x+1 15x-1 2x-5

The equation — 53,1 Istruefor
a. x=1

b. x=

c. x=5

d x=7



X Pick up the correct value xforwhich x 1 x 1 o
0.5 0.05 0.005 0.0005

a. x=0

b. x=1

(D €3 [0)

d. None of these



[T The sum of two numbers is 52 and their difference is 2. The

numbers are

a. 17and15

b. 12and10

c. 27and 25

d. None of these



[(IT¥] The diagonal of a rectangle is 5 cm and one of at sides is 4 cm.

Its area is

a. 20sq.cm

b. 12sq.cm

c. 10sq.cm

d. None of these



[eX] Divide 56 into two parts such that three times the first part
exceeds one third of the second by 48. The parts are.

a. (20, 36)

b. (25,31)

c. (24,32)

d. None of these



[CITX The sum of the digits of a two digit number is 10. If 18 be
subtracted from it the digits in the resulting number will be equal.
The number is

a. 37
b. 73
c. 75
d. None of these



[T The fourth part of a number exceeds the sixth part by 4. The

number is

a. 84

b. 44

c. 48

d. None of these



[SIX Ten years ago the age of a father was four times of his son. Ten

years hence the age of the father will be twice that of his son. The

present ages of the father and the son are.

a. (50,20)
b. (60,20)
c. (55,25)

d. None of these



The product of two numbers is 3200 and the quotient when the

larger number is divided by the smaller is 2.The numbers are

a. (16,200)
b. (160, 20)
c. (60,30)

d. (80, 40)



The denominator of a fraction exceeds the numerator by 2. If 5

be added to the numerator the fraction increases by unity. The

fractionis.
a. 5/7
b. 1/3
c. 7/9

d. 3/5



[SIX: Three persons Mr. Roy, Mr. Paul and Mr. Singh together have
51. Mr. Paul has Z 4 less than Mr. Roy and Mr. Singh has got 2 5 less

than Mr. Roy. They have the money as.

a. (220,216,215)
b. (215,220,216)
c. (225,21,215)

d. None of these



S]] A number consists of two digits. The digits in the ten's place is
3 times the digit in the unit’s place. If 54 is subtracted from the

number the digits are reversed. The number is

a. 39
b. 92
c. 93

d. 94



[STTX]1 One student is asked to divide a half of a number by 6 and
other half by 4 and then to add the two quantities. Instead of doing
so the student divides the given number by 5. If the answer is 4 short

of the correct answer then the number was

a. 320
b. 400
c. 480

d. None of these



[CITXF If a number of which the half is greater than 1/5th of the

number by 15 then the number is

a. 50
b. 40
c. 80

d. None of these



SIMULTANEOUS LINEAR EQUATIONS (70 UNKNOWNS)

ax+by+c =0

ax+by+c,=0

e Avalue for each unknown which satisfies simultaneously both the
equations will give the roots of the equations.



‘l SIMULTANEOUS LINEAR EQUATIONS (7(/0 UNKNOWNS)

4 A
METHODS

CROSS MULTIPLICATION METHOD

SUBSTITUTION METHOD

OF

SOLVING

ELIMINATION METHOD

\_ J

OPTION METHOD



ELIMINATION METHOD

Solve

2x+5y=9and3x-y=5



IMPORTANT POINTS alx + b'|y + °| =0

ax+b,y+c, =0

Compare the A dlgebraic
ratios interpretation
=d B 5,
5 Exactly one
= = solution
(Cunigue)
a 5 @ o
- ~ P e Infinitely
= = Z many solutions
a, B iy N —
- o solution
-k &, T




The solution of the set of equations 3x + 4y =7,4x -y =3is

a (1,-1)
b. (1,1)
c. (2,1)
d (1,-2)



[S®] The values of x and y satisfying the equations £,Y_> x+2y=8
are given by the pair. 2 3

a. (3,2)
b. (-2,-3)
c. (2,3)

d. None of these



UK Z+Y=2 x+y=p+qaresatisfied by the values given by the

pair. P 9 °
a. (x=p,y=q)
b. (x=q,y=p)
c. (x=1y=1)

d. None of these



CITX] The solution for the pair of equations 1,1 .9 1 1 _4

is given by 16x 15y 20’ 20x 27y 45
a. (1/4,1/3)

b. (1/3,1/4)

c. (3,4)

d. (4,3)



[T solve forxandy: %-§=%+% and 3xy =10 (y - x)
a (5,2)

b. (-2,-5)

c. (2,-5)

d. (2,5)



Em The pair satisfying the equations: x+5y = 36, %=§ is given
y

a. (16,4)

b. (4,16)

c. (4, 8)

d. None of these



Solve for x and y : x-3y= 0, x+2y= 20.
a. x=4,y=12
b. x=12,y=4

0

X=5y=4

2

None of these



The simultaneous equations 7x-3y = 31, 9x-5y = 41 have
solutions given by

a (-4,-1)
b. (-1,4)
c. (4,-1)

d (3,7)



[IX: 1.5x + 2.4 y =1.8, 2.5(x+1)= 7y have solutions as

a. (0.5,0.4)
b. (0.4,0.5)
c. (1/2,2/5)
d. (2,5)



[SITAL The values of x and y satisfying the equations _3_, 2

—t
X+y X-y

2 2 -

2,2 32 are given by

x+y x-y 3

=3

a. (1,2)
b. (-1,-2)
(1.1/2)
(2,1)

0

o



1.5x + 3.6y= 2.1, 2.5 (x+1) = 6y

a. (0.2,0.5)
b. (0.5,0.2)
c. (2,5)

d. (-2, -5)






PP *_Y_Z 7x+8y+52=62
4 3 2

a (4,3,2)

b. (23,4)

c. (3.4,2



x+y y+Z Z+X
a. (120, 60, 30)
b. (60,30,120)
c. (30,120, 60)
d. (30,60,120)



(X5 2x +3y +42=0,x+2y - 52=0,10x + 16y - 62= 0

a. (0,0,0)
b. (1,-1,1)
c. (3,2,-1)
d (1,0,2)



| 1 1
Que.6) 3 (x+y) + 2z = 21, 3x -E(y+z) =65, x + 2 (x+y-z) = 38

a. (4,9,5)
b. (2,9,5)
c. (24,9,5)

d. (5,24,9)






Que.8) X +y+0.03_ y +x-o-0.03 _

001 005 002 o001 2

a. (1,2)

b. (0.1,0.2)

c. (0.01,0.02)
d. (0.02,0.01)



%ﬂlo, V2 o pap 200

z-y z+x 11

a. (12,m,10)
b. (10,1,12)
c. (m,10,12)
d. (12,10,11)



oITA[)] 3x-4y+70z = 0, 2x+3y-10z = 0, x+2y+3z =13

a (1,3,7)

b. (1,7,3)

c. (2,4,3)
d. (-10,10,1)



Choose the most appropriate option (a), (b), (c) or (d).

Monthly incomes of two persons are in the ratio 4 : 5 and their
monthly expenses are in the ratio 7: 9. If each saves 250 per month
find their monthly incomes.

a. (500, 400)
b. (400,500)
c. (300,600)
d. (350,550)



Choose the most appropriate option (a), (b), (c) or (d).

Find the fraction which is equal to 1/2 when both its
numerator and denominator are increased by 2. It is equal to 3/4
when both are increased by 12.

a. 3/8
b. 5/8
c. 28

Q-

2/3



Choose the most appropriate option (a), (b), (c) or (d).

The age of a person is twice the sum of the ages of his two

sons and five years ago his age was thrice the sum of their ages. Find
his present age.

a. 60years
b. b52years
c. blyears

d. 50years



Choose the most appropriate option (a), (b), (c) or (d).

A number between 10 and 100 is five times the sum of its
digits. If 9 be added to it the digits are reversed find the number.

a. 54
b. 53
c. 45
d. 55



Choose the most appropriate option (a), (b), (c) or (d).

The wages of 8 men and 6 boys amount to 33. If 4 men earn 2
4.50 more than 5 boys determine the wages of each man and boy.

a. (21.50,23)
b. (23,21.50)
c. (22.50,22)
d. (22,22.50)



Choose the most appropriate option (a), (b), (c) or (d).

A number consisting of two digits is four times the sum of its
digits and if 27 be added to it the digits are reversed. The number is:

a. 63
b. 35
c. 36

d. 60



Choose the most appropriate option (a), (b), (c) or (d).

of two numbers, 1/5'" of the greater is equal to 1/3"™ of the
smaller and their sum is 16. The numbers are:

a. (6,10)
b. (9,7)
c. (12,4)

d (1m,5)



Choose the most appropriate option (a), (b), (c) or (d).

y is older than x by 7 years 15 years back x's age was 3/4 of y's
age. Their present ages are:

a. (x=36,y=43)
b. (x=50,y=43)
c. (x=43,y=50)
d. (x=40,y=47)



Choose the most appropriate option (a), (b), (c) or (d).

The sum of the digits in a three digit number is 12. If the digits
are reversed the number is increased by 495 but reversing only of
the ten’s and unit digits increases the number by 36. The number is

a. 327
b. 372
c. 237
d. 273



Choose the most appropriate option (a), (b), (c) or (d).

o[TTA[)] Two numbers are such that twice the greater number

exceeds twice the smaller one by 18 and 1/3" of the smaller and 1/5'"
of the greater number are together 21. The numbers are:

a. (36,45)
b. (45, 36)
c. (50, 41)

d. (55, 46)



Choose the most appropriate option (a), (b), (c) or (d).
oITA1)] The demand and supply equations for a certain commodity

are4q+7p=17and p-= %+%. respectively where p is the market

price and q is the quantity then the equilibrium price and quantity

are:

a. 2,3/4a
b. 3,%
c. 5%

d. None of these



The solution of the equations 2x - 5y +4 = 0 and 2x +y - 8 =0 will
be

(a) (2,-3)

(b) (1,-3)

() (3.2)
(d) (-2,2) Ans:c



If 2X*Y = 22X°Y = /8, then the respective values of xand y

(c) ».% Ans:a



In MCQ paper consisting 100 questions of 1 mark each, a candidate
gets 60% marks . If the candidate attempted all questions and there
was a penalty of 0.25 marks for wrong answer, the difference

between number of right answers and wrong answers is
(a) 32
(b) 36
Ans:b
(¢) 40

(d) 38



The cost of 2 oranges and 3 apples is Z 28 . If the cost of an apple is
doubled then the cost of 3 oranges and 5 apples is 75 . The original
cost of 7 oranges and 4 apples is

C)L:)

(b) 47

(c) 7 Ans:d
(d) 63



The age of a man is four times the sum of the ages of his two sons
and after 10 years, his age will be double the sum of their ages . The

present age of the man must be

(a) 56
(b) 45
(c) s0 Ans:c

(d) 64



[ auapaticquations 2

An equation of the form
ax’+bx+c=0

Where,

a is coefficient of x2

b is coefficient of x
is called a quadratic equation or

¢ Is constant equation of the second degree.

az0



| auaoraric uarions _ 2

e Examples:
i) 2x2+3x+5=0
i) x>-x=0

iii) 5x2-6x-3=0



How to find out the roots of a Quadratic Equation:

e The value of the variable say x is called the root of the equation.

e A quadratic equation has got two roots (usually denotedby O , 3)

FACTORISATION METHOD QUADRATIC FORMULA




FACTORISATION METHOD

SOLVE

6x2=-x=-2=0

x=% andx==%



QUADRATIC FORMULA

ax’+bx+c=0
1 -b+/b?-4ac
- 2a

Let one root be a and the other root be 8

o= —b+\/ b2 -4ac B = —b-\/b2-4ac :

2a 2a



QUADRATIC FORMULA

SOLVE

6x2=-x=-2=0



NATURE OF ROOTS

b? - 4ac

b? - 4ac <0
Imaginary Roots

b’-4ac=0
Real and Equal

b? - 4ac >0
Real and unequal

b? - 4ac
Perfect square

Real , Unequal
rational roots

b? - 4ac
Not perfect square

Real unequal
irrational
roots




NOTE

o If one of the root of the equation is m + v/ n then the other
root willbem-+/n

e This pair of irrational roots are called Conjugate pairs



[ oames 2

. (a+b)2=a’+b%+2ab

. (a-b)2=a?+b?%=-2ab

. (a+b)®= (a-b)>+ 4ab



[ oames 2

. (a*b)*=a+b3+3ab(a+b)

. (a-b)*=a®-b%-3ab(a-h)



Sum and Product of the Roots:

ax?+bx+c=0

sumofroots= | b
a

coefficient of x

= coeffientof x°

product of the roots =

C
a

constant term

= coefficient of x>




How To Construct A Quadratic Equation

Let one root be a and the other root be f3

x2 - (sum of the roots) x + Product of the roots = 0

x?- (o+B) x+af =0



Choose the most appropriate option (a), (b), (c) or (d).

If the roots of the equation 2x2 + 8x - m® = 0 are equal then
value of mis

a. -3
b. -1
c. 1

d -2



Choose the most appropriate option (a), (b), (c) or (d).
If 22X*3 - 322X + 1 = 0 then values of x are

a. 0,1
b. 12
c. 0,3

d. 0-3



Choose the most appropriate option (a), (b), (c) or (d).

1

X))  The values of 4+ :
4+ T
4+

4+....00
a. 1+4/2
b. 2+/5
c. 2+4/5
d. None of these



Choose the most appropriate option (a), (b), (c) or (d).

If a, B be the roots of the equation 2x2 - 4x - 3 = 0 the value

of o + B2is
a. 5

b. 7

c. 3

Q
[
i



Choose the most appropriate option (a), (b), (c) or (d).
If the sum of the roots of the quadratic equation ax?+ bx +¢c =0

is equal to the sum of the squares of their reciprocals then ﬁ bc

ac a2
is equal to
a. 2
b. -2
c. 1

2
1



Choose the most appropriate option (a), (b), (c) or (d).
The equation x2-(p+4)x + 2p + 5 = 0 has equal roots the values

of p will be.
a. =1

b. 2

cC. +2

Q
|
N



Choose the most appropriate option (a), (b), (c) or (d).

The roots of the equation x? + (2p-1)x + p2 = 0 are real if.

a. pz21
b. p<4
c. p21/a

d. psi/a



Choose the most appropriate option (a), (b), (c) or (d).

If x = m is one of the solutions of the equation 2x? + 5x -m =0
the possible values of m are

a. (0,2)
b. (0,-2)
c. (0,1)
d. (1,-1)



Choose the most appropriate option (a), (b), (c) or (d).
If p and q are the roots of x2 + 2x + 1= 0 then the values of p3 + q°

becomes
a. 2
b. -2

4



Choose the most appropriate option (a), (b), (c) or (d).

CUR[)]If L+ M + N =0 and L, M, N are rationals the roots of the
equation (M +N - L)x?+(N +L- M)x + (L + M-N) =0 are

a. Real andirrational
b. Real and rational
c. Imaginary and equal

d. Realand equal



Choose the most appropriate option (a), (b), (c) or (d).

IR 1) If a and B are the roots of x2 = x + 1then value of ¢* _ B

—1S

B o
a. 25
b. /5
c. 3/5

d -2/5



Choose the most appropriate option (a), (b), (c) or (d).
If p= q and p2 = 5p - 3 and q2 = 5q - 3 the equation having roots

as
P q

—and ~ is
q P

a. x2-19x+3=0
b. 3x?*-19x-3=0
c. 3x*-19x+3=0

d. 3x2+19x+3=0



Choose the most appropriate option (a), (b), (c) or (d).

TN K)] If one root of 5x? + 13x + p = 0 be reciprocal of the other then the
value of p is

a. -5
b. 5

c. 1/5
d. -1/5



Choose the most appropriate option (a), (b), (c) or (d).
m A solution of the quadratic equation (a + b -2¢c)x? + (2a-b - c)x + (c +a-2b) =0
) &8

a
b. x=-1

0
X
]
N

o}
X
]
1
N



Choose the most appropriate option (a), (b), (c) or (d).

m If the root of the equation x2 -8x + m = 0 exceeds the other by 4
then the value of mis

a m=10
b. m=11
c. m=12

Q
3
T
©



Choose the most appropriate option (a), (b), (c) or (d).

¥ The values of x in the equation 7(x + 2p)? + 5p? = 35xp + 117p2 are
a. (4p,-3p)

b. (4p,3p)

(-4p, 3p)

(-4p, -3p)

O

2



Choose the most appropriate option (a), (b), (c) or (d).
[{IYA The solutions of the equation 6x , 6x+1)

i
a. (2,3)
T )]
c. (-2,-3)

d. (2,-3)



Choose the most appropriate option (a), (b), (c) or (d).

ksl gl
=—+—+—

x*p+q x p q

[IXA The satisfying of x for the equation e

a. (p.q)

b. (-p.-q)
c. (p.-p)
d. (-p.q)



Choose the most appropriate option (a), (b), (c) or (d).

m The values of x for the equation x? + 9x +18 = 6 - 4x are

a (1,12)
b. (-1,-12)
c. (1,-12)
d. (-1,12)



Choose the most appropriate option (a), (b), (c) or (d).
The values of x satisfying the equation
J(2x2+5x-2) /(22> +5x-9) = 1 are

a. (2,-9/2)
b. (4,-9)
c. (2,9/2)
d. (-2,9/2)



Choose the most appropriate option (a), (b), (c) or (d).

The solution of the equation 3x? - 17x + 24 = 0 are

a (2,3)
2
b. (2,35)
2
C. =
(3,2 3)
d.

s
G 3)



Choose the most appropriate option (a), (b), (c) or (d).

[ITX: The equation 3(3x;+15) SR e g 2x27+96 +6 hasgotthe
solution as

a (1,1)

b. (1/2,-1)

c. (1,-1)

d. (2,-1)



Choose the most appropriate option (a), (b), (c) or (d).

. I-m) 5, (I+m - C)
I The equation |— |*™- 3 jErms has got two values
of x to satisfy the equation given as

a. (1,2_m)
\ [-m
(

b. LL)
\ [-m




Choose the most appropriate option (a), (b), (c) or (d).

(Y] The sum of two numbers is 8 and the sum of their squares is 34.
Taking one number as x form an equation in x and hence find the
numbers. The numbers are

a. (7,10)
b. (4,4)
c. (3,5)
d. (2 6)



Choose the most appropriate option (a), (b), (c) or (d).

[S¥] The difference of two positive integers is 3 and the sum of their
squares is 89. Taking the smailler integer as x form a quadratic
equation and solve it to find the integers. The integers are:

a. (7,4)
b. (5,8)
c. (3,6)
d. (2,5)



Choose the most appropriate option (a), (b), (c) or (d).

[SITXE] Five times of a positive whole number is 3 less than twice the
square of the number. The number is

a. 3
b. 4
c. -3



Choose the most appropriate option (a), (b), (c) or (d).

[CIY A The area of a rectangular field is 2000 sq.m and its perimeter is
180m. Form a quadratic equation by taking the length of the field as x
and solve it to find the length and breadth of the field. The length and

breadth are

a. (205m, 80m)
b. (50m, 40m)
c. (60m,50m)
d. None



Choose the most appropriate option (a), (b), (c) or (d).

[IXA Two squares have sides p cm and (p + 5) cms. The sum of their
squares is 625 sq. cm. The sides of the squares are

a. (10cm,30cm)
b. (12cm,25cm)
c. (15cm,20cm)

d. None of these



Choose the most appropriate option (a), (b), (c) or (d).

[ITXA Divide 50 into two parts such that the sum of their reciprocals is
1/12. The numbers are

a. (24,26)
b. (28,22)
c. (27,23)

d. (20, 30)



Choose the most appropriate option (a), (b), (c) or (d).

There are two consecutive numbers such that the difference of
their reciprocals is 1/240. The numbers are

a. (15,16)
b. (17,18)
c. (13,14)

d. (12,13)



Choose the most appropriate option (a), (b), (c) or (d).

The hypotenuse of a right-angled triangle is 20 cm. The
difference between its other two sides be 4cm. The sides are

a. (1lcm,15cm)
b. (12cm,16cm)
(20cm, 24cm)

0

o

None of these



Choose the most appropriate option (a), (b), (c) or (d).

[IX:] The sum of two numbers is 45 and the mean proportional
between them is 18. The numbers are

a. (15,30)
b. (32,13)
c. (36,9)

d. (25,20)



Choose the most appropriate option (a), (b), (c) or (d).

[CITX[) The sides of an equilateral triangle are shortened by 12 units 13
units and 14 units respectively and a right angle triangle is formed.
The side of the equilateral triangle is

a. 17 units
b. 16 units
c. 15 units

d. 18 units



Choose the most appropriate option (a), (b), (c) or (d).

[STTX1! A distributor of apple Juice has 5000 bottle in the store that it
wishes to distribute in a month. From experience it is known that

demand D (in number of bottles) is given by D = -2000p? + 2000p +
17000. The price per bottle that will result zero inventory is

a. 23
b. 25
c. 22
d. None of these



Choose the most appropriate option (a), (b), (c) or (d).

[SISPA The sum of two irrational numbers multiplied by the larger one
is 70 and their difference is multiplied by the smaller one is 12; the two

numbers are
a. 3v2,2/3
b. 5v2,3/5
c. 2v2,5v2

d. None of these



Dec 2010

If one root of the equation x? - 3x + k = 0 is 2, then value of k will be
(a) -10
O

¥

G Ans:c



If the quadratic equation x2 + px+q=0and X2 + qx+p=0havea
common rootthenp+q="?

(a)O

(b)1

(c) -1

(d) 2

Ans:c

USE MY CODE : SS12



What will be the value of k, if the roots of the equation
(k - 4) x?- 2kx + (k + 5) = 0 are equal?
(a)18
(b) 20
(c)19
(d) 21
Ans:b

USE MY CODE : SS12



Roots of the equation 3x? - 14x - k = 0 will be reciprocal of each other
if:

(a) k=-3

(b)k=0

(c)k=3

(d) k=14 Ans:a

USE MY CODE : SS12



If 2, B are the roots of the quadratic equation

2x2 - 4x =1then the value of o2[B + p3[a =

(a) -1
(b) 22
(c) -22

)AL Ans:c

USE MY CODE : SS12



If one of the roots of the equation x>

+ px + d is v/3 + 2, then the value of 'p'
and ‘a’is
(a) -4, -1
(b) 4, -1
Ans:c
(c)-4.1

(d) 4,1
USE MY CODE : SS12



The value of P for which the difference between the root of equation
x2+px+8=0is2is

C)E?:

(EL

OEG

(d):8 Ans:c

USE MY CODE : SS12



Find the condition that one root is double the of ax? +bx +c =0
(a) 2b% = 3ac

(b) b?=3ac

(c) 2b?%=9.ac

(d) None
Ans:c
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[ cusic cauamions 2

An equation of the form

ax®+bx?+cx+d=0
Where,
a is coefficient of X° , a=0

b is coefficient of x> is called a cubic equation or equation

. . . of the degree three.
c is coefficient of x

d is constant



Choose the most appropriate option (a), (b), (c) or (d).

m The solution of the cubic equation x3 - 6x? + 11x - 6 = 0 is given by

the triplet:
a. (-1,1,-2)
b. (1,23)
c. (-2,2,3)
d. (0,4,-5)



Choose the most appropriate option (a), (b), (c) or (d).

¥ The cubic equation x® + 2x? - x - 2 = 0 has 3 roots namely.

a (1,-1,2)
b. (-1,1,-2)
c. (-1,2,-2)

d (1,22)



Choose the most appropriate option (a), (b), (c) or (d).

UKD x, x - 4, x + 5 are the factors of the left-hand side of the
equation.

a. x3+2x2-x-2=0
b. x°+x%*-20x=0
c. x°-3x%-4x+12=0

d. x°-6x2+1x-6=0



Choose the most appropriate option (a), (b), (c) or (d).

MThe equation 3x3 + 5x2=3x + 5 has got 3 roots and hence the
factors of the left-hand side of the equation 3x® + 5x2 - 3x-5= 0 are

a. x-1,x-2,x-5/3
b. x-1,x+1,3x+5
c. x+1,x-1,3x-5

d x-1,x+1,x-2



Choose the most appropriate option (a), (b), (c) or (d).

m The roots of the equation x3+7x2-2Ix-27=0are

a. (-3,-9,-1)
b. (3,-9,-1)
c. (3,91

d. (-3,1,9)



Choose the most appropriate option (a), (b), (c) or (d).

MTherootsofx3+x2-x-l=Oare

a (-1,-1,1)
b. (1,1,-1)
c. (-1,-1,-1)

d (11,1)



Choose the most appropriate option (a), (b), (c) or (d).

The satisfying value of x3 + x? - 20x = 0 are

a (1,4,5)
b. (2, 4,-5)
c. (0,-4,5)

d. (0,4,-5)



Choose the most appropriate option (a), (b), (c) or (d).

The roots of the cubic equation x3- 6x% +9x -4 =0are

a (4,1,-1)
b. (-4,-1,-1)
c. (-4,-1,1)

d (1,1,4)



Choose the most appropriate option (a), (b), (c) or (d).

PIXlif 4x3 + 8x2 - x - 2 = 0 then value of (2x+3) is given by

a. 4,-1,2
b. -4,2,1
c. 2,-4,-1

d. None of these.
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The rational root of the equation 0 = 2p3- p2 -4p+2is
(a) -2

(b) 2

(c)1/2

(d)-1/2

Ans:c
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